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Solution

S1. Ans.(a)

Sol. In C, the idea about The Wildlife (Protection) Act 1972 has been introduced, hence C is the
opening sentence of the given paragraph. the pronoun 'it' in D has been used for the Wildlife
(Protection) Act 1972, hence D follows C. CD is a pair. Only in option A, CD has been given, hence
option A is correct answer choice. The logical and correct order of the sentences of the given
paragraph should be- CDAB

S2. Ans.(a)

Sol. In A, the idea about "algae" has been talked about which is "a simple, non-flowering, and
typically aquatic plant of a large assemblage that includes the seaweeds and many single-celled
forms. " and in C about "mangrove forests" has been talked about, hence AC is a pair. in C,
"exploitation for domestic and commercial use of forest" has been talked about and this idea further
has been discussed in D, hence ACDB is correct order of the sentences. Option A is correct answer
choice.

S3. Ans.(d)
Sol. In B, information about 'coral reefs' has been given, and this idea continues in D, hence BD is a
pair. The logical and correct order of the sentences of the given paragraph should be- BDAC

S4. Ans.(a)

Sol. In C, The information about "Brookhaven National Laboratory" has been introduced, hence it is
opening sentence of the given paragraph. the word "The Laboratory’s wildlife" suggests D follows C,
hence CD is a pair. Hence, option A is correct answer choice.

The logical and correct order of the sentences of the given paragraph should be- CDAB

S5. Ans.(a)

Sol. In C, the idea about competition and global dominance has been talked about and this idea
continues in A, hence CA is a pair. Only in option A, this pair exist, hence Option A is correct answer
choice.

The logical and correct order of the sentences of the given paragraph should be- CADB

S6. Ans.(d)

Sol. In B, the information about "export growth" has been introduced, hence B is starting sentence of
the given paragraph, only option d starts with B, hence The logical and correct order of the sentences
of the given paragraph should be- BCDA.

S7. Ans.(a)

Sol. C talks about "processed chemicals" and B also talks about " chemicals", hence CB are connected
as a pair. Only in option A, this pair CB is given, hence option A is correct answer choice.

The logical and correct order of the sentences of the given paragraph should be- CBAD
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starting sentence of the given paragraph. Sentence D follows C

S9. Ans.(c)
Sol. In Sentence B, the information about "The renowned car company" has been given, and D talks
about the manufacturing of its cars, hence BD are connected as a pair. In Sentence C, the word
'however' suggests that it is the concluding part of the given paragraph.

The logical and correct order of the sentences of the given paragraph should be- BDAC

S$10. Ans.(b)

Sol. In B, the theory about "Acid rain" has been explained, hence B is opening sentence. In A, the idea
about ill effects has been talked which are also mentioned in the b, hence BA is a pair. In D, "the
developed world" and in C, "developing world" have been mentioned, hence DC is a pair.

The logical and correct order of the sentences of the given paragraph should be- BADC

S11. Ans.(a)

Sol. In B and C, the idea about "biomass " has been mentioned in a related way, hence BC is a pair. In
A, the idea further has been explained, hence The logical and correct order of the sentences of the
given paragraph should be- BCAD. Option A is correct answer choice.

S12. Ans.(c)

Sol. In A , Cement has been mentioned and in C also more information about 'cement' has been
given, hence AC is a pair. In D, "global cement production" is mentioned which is the extension of the
idea mentioned in the C, hence The logical and correct order of the sentences of the given paragraph
should be- ACDB

S13. Ans.(a)

Sol. In D, the full form "Credit rating agencies" is written and in A, short form is mentioned, hence by
this rule, A will follow sentence D, option A is correct answer choice.

The logical and correct order of the sentences of the given paragraph should be- DBAC

S14. Ans.(c)

Sol. Sentence D is starting sentence because it tells us about the study by the scientists, in C, pronoun
'they' is used for "scientists" in D, hence DC is a pair. The logical and correct order of the sentences of
the given paragraph should be- DCBA
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S15. Ans.(c)
Sol. DABC In D, the importance of "Industrialization" is talked as a prerequisite for development,
and in B and C, the reason of poverty has been mentioned, hence BC is a pair. hence option c is

correct answer choice. The logical and correct order of the sentences of the given paragraph should
be- DABC

S16. Ans.(c)

Sol. Q follows 1, P follows Q, expression 'a number of' shows- S follows P, R follows S, hence QPSR is
correct order of the given words to make logical sentence. The correct sentence will be "The Leeds
University offers a number of scholarships to international students."

S17. Ans.(d)

Sol. the word 'including' suggests Q follows 1 ( Academicians including former Vice-Chancellors ),
the relative pronoun 'who' in P suggests- P follows Q, "debate on a common university law" links
correctly, hence S follows P, "QPSR" is correct order of the sentences of the given paragraph. Option
D is correct answer choice.

S18. Ans.(a)

Sol. R follows 1, 'as' in P suggests that P follows R (such-as is a pair). 'the gift of brotherhood' is
connected correctly hence PS is a pair. RPSQ is correct word order of the given sentence.

"There is no such thing as the gift of brotherhood and love for humanity in this world."

S19. Ans.(a)

Sol. The present perfect tense verb 'has' in Q is used for the WHO in 1, hence Q follows 1, "that
tobacco is" suggests SR is a pair, hence QSRP is correct word order of the given sentence.

"The World Health Organization has pointed out that tobacco is the greatest villain in the history of
humankind."

S$20. Ans.(b)

Sol. the word 'against' in S suggests that S follows 1, "protest against injustice" connects logically,
hence SR is a pair, only option B has "SRQP" order. hence option B is correct answer choice. "a cry in
the wilderness" is an idiomatic expression, hence P and 6 connects in meaning,.

"My friend's protest against injustice turned out to be a cry in the wilderness."

S21. Ans.(c)
Sol. Q follows 1, in R pronoun 'it' is used for 'The activity', hence R follows Q. hence QRPS is correct
order of the sentences in the given paragraph. option A is correct answer.

S22. Ans.(a)

Sol. "Architecture began when early people started to build their own shelters rather than relying on
readymade ones such as trees and caves." this is correct logical order of the give words of the
sentence. option A is correct answer.
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S23. Ans.(c)
Sol. "Indiscriminate industrialization resulted in urban migration as the rural poor settled in cities in
search of opportunities." RPSQ is correct order. hence, option C is correct answer choice.

S24. Ans.(c)
Sol. "have launched an online application where one can find" this arrangements suggests that RPSQ
is correct order. hence, option C is correct answer choice.

S25. Ans.(c)
Sol. R follows sentence 1, "below the Earth’s crust" suggests RS is a pair. hence RSQP is correct order.
Option C is correct answer choice.

S26. Ans.(a)
Sol. RSPQ is the correct order for the given paragraph. option A is correct answer choice.

S27. Ans.(a)
Sol. PRQS is the correct order for the given paragraph. option A is correct answer choice.

S28. Ans.(d)
Sol. pronoun 'he' in P is used for Louis Washkan sky, hence P follows sentence 1. 'damaged heart'
and 'cured' are related, hence PR is a pair. hence option D is correct answer choice.

S29. Ans.(c)
Sol. The pronoun 'he' in sentence S is used for Albert Edward in sentence 1, hence 1 will be followed
by S. only option C starts with S, hence option C is correct answer.

L P FLAT 60% OFF

<4000 1599
S30. Ans.(c)
Sol. In Sentence R, Pronoun "it" has been used for Rubik’s Cube in £ \ Ssc CGL 20 'l 7

sentence 1. Hence, sentence R will follow the opening sentence 1 of KL All Rounder
the given paragraph. In Sentence R, architect is used for Emo Rubik

in Sentence P, hence RP is a pair. Hence, RPSQ is correct order of with Video Solutions
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